Question Mo : 1 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

To start an ordered lst from 20 nstead of 1, the correct option will be

“

Answer | Please select your correct option )

=0OL begm ="20"=
£

<L imitiate = 20"
o

=L start ="20"= Corract answar solved by hadi
c \/_/ Cell No:03228043306

Email: vsmansa)20@pmail.com

<QL from = “20"=

{
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Wideo card has its own and processor,

“

Answer | Please select your correct option )

Metworle Card
£

Mlemory

o ‘\_—-—/_

Sertal Port

Power Supply
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Battery on the motherboard of a computer 13 used to

“

Answer | Please select your correct option )

o

Gve power to the processor

=sawve time and BIOS mformation, when computer 15 off,

Nn———

Correet answer solvad by hadi
Call No:0322304330¢
Email: vemansra) 20@email.com

Turn on the CPTT lights

Increase the processor speed

Yhede By: Wageir Siddha




Question Mo : 4 of 26
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Command which saves the selected test before deleting 1z

“

Answer | Please select your correct option )

Copy
& \//—

Delete

Cut

Tnde

Yheade By: Wager Siddha




Question Mo : 5 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

It a user1z using CGI scnpt on a THNIX server, then the script type 15 called

“

Answer | Please select your correct option )

o

Client side scripting

=erver side schipting

—

Correet answar solved by hadi
Czlt No:(3223043306
Email: nemanraj20@ zmail com

stand-alone scripting

GUI scripting
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“

Punched Cards were mwvented first tune for the purpose of

Answer | Please select your correct option )

Calculation
o QL -
Entering Patterns in Testile Looms
-~
storing Data
(e
Playing Cards
o
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Ifwe use <INPUT type="password™= inn HTWL, what will happen? =

Answer | Please select your correct option )

Text will not be waible
£

Text will be i normal format

Text will be mn **** format

Correct answer solved by hadi
(@ Call No:(3228043306

Email: psmanraj20@email com

Text will be in #H5 format

Yhede By: Wageir Siddha




Question Mo : § of 26 Marks: 1 (Budgeted Time 1 Min) (=]

“

When we fun a program i a computer, the actual execution of the program takes place in

Answer | Please select your correct option )

EAM

e \/f'

ECOM

Mlcroprocessor

Hard Disk
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15 the essential propetty of every JavaScript object.

“

Answer | Please select your correct option )

Color
£

Width

Hatme

Correct answer solved by hadi
Call No:03223043306
Email: ssmanraj20@email com

=ize

Yhede By: Wageir Siddha




Question Mo : 10 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

-

A program designed to activate an alarm after every two hours 15 the example of

Answer | Please select your correct option )

Batch Program
C

Event Driven Program

Time Program

Eeal Tune Program
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The communication ling between the CPU, memory and penpherals 12 called as

“

Answer | Please select your correct option )

o

E AN Correct answar solved by hadi
Call No:03223043306
Email: vemanra)20@email com
B
FPuI
ATTT

Yhede By: Wageir Siddha




Question Mo : 12 of 26

Marks: 1 (Budgeted Time 1 Min) (=]

Vhat will happen if I start a new bst without closing the ongmnal one?

“

Answer | Please select your correct option )

An error will be generated
&

A nested hst will be created

o L//'

Correct answer solved by hadi
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Prewious list will end and a new waill start.

Mothing will happen
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Zelect the variable name which 15 invalid in JavaScript;

-

Answer | Please select your correct option )

ws_101
: Made By: Wager Siddhu
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-

15 { are more suttable techmque(s) for a developer to use i order to construct the actual code of a software.

Answer | Please select your correct option )

Pseudo code
]

Flow chart

Algorithm

Heunstics
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“

A developer analyses the uset's requirements, petforms further ivestigation, and produces unambiguous specifications in step.

Answer | Please select your correct option )

Planmng
i
Tsers Requirements
P
Designing
(@
Developer Zpecifications Correct answer solved by hadi
~ Call No:03228043306
N e Weide By: Wacgelr Siddhu
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UNTVAC contatned

vacuum tubes and was able to process

mstuctions per second.

-

Answer | Please select your correct option )

C

5000, 5000

12000, 5000

5000, 2000

15000, 2000
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“

The microprocessors that do not hawve a separate unit to handle foating point data are

Answer | Please select your correct option )

Mot able to handle floating pomt operations Cosract answar solved by hadi
i Cell No33228043306
Email: vamanra)2 @ email com

Slower than other microprocessors

P
Costly than other microprocessors
(@
Mot wrvented yet
{0
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“

Ifthere are multiple programs running on my PC hawnng windows 2P, then it refers to:

Answer | Please select your correct option )

Wults User
&
=ingle Tser
P
single user, Llultitasking Corract answer solved by hadi

~ \ Cell No:(3228043306

Email: psmanraj2 (i email com

Wults User, Multiprocessing
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Tou cannot close Microsoft Word 2003 by . =

Answer | Please select your correct option )

Choosmng File menu then Exit command

C

Pressing Alt+F4
-~

Clicking X button on title bar
(e

Choosing Cloze submenu from File meny

: N Wade By: Bagar Siddhy
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wohy of the following 15 not a peripheral device for a computer?

“

Answer | Please select your correct option )

TsE
£
Prnter
P
Scanner
(%)
Power Supply Unit Cosract answer sclved by hadi
O Call Ma:03228043306
N e Made By: Wagar Siddha
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Question Mo : 21 of 26

Tdentify an obiect and a method in the following JavaScript statemetit
Window close()

Answer | Please click here to Add Answer )
FEanR | FEE]S W& LG |1uu%v]|
Illlrrnul A | I 5| EEEE | U|—_E:§ :

il
il
1}
||+|
1l
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-

Iz it possible to run an application in the povate metory space of another application?

Answer | Please click here to Add Answer )

FEanR | FEE]S W& LG |1uu%v]|
Illlrrnul _I|~—~Ilr-| _Il] _I B 7 U|—:EE§
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-

How can mteractive mode software be more attractive than the batch mode software?

Answer | Please click here to Add Answer )

FE&ER| Yo o5 e |E||1uu%v]|
Illlrrnul _IIHIIHI _Il] LI B 7 E|EE§EE§
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-

List down any three benefits a software development team can get by performing proper and better testing on every stage of development.

Answer | Please click here to Add Answer )

FE&ER| Yo o5 e |E||1uu%v]|
|||II'I'|'|| k| I a2 =Hier O | ==
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IFyou are asked to perform analysis of an algorithm then explain which two parameters will you consider the most important to analyze the algorthm?

™

Answer | Please click here to Add Answer )

FEHal|sie|s &AL T E
||| il B2 | T | E

1uu%v|
I BETE =
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™

When does =" sigh behave as an “assighment operator” and as an “equal to” operator in JavaSchpt? Give code example for sach behawior.

Answer | Please click here to Add Answer )

FE&ER| Yo o5 e |E||1uu%v]|
|||II'I'|'|| k| I a2 =Hier O | ==

. Yhade By: Pagear Siddhuy




